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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

(i) Convert Decimal no (175)1 in to Binary and Octal
(if) Convert (AB) 16 = (+evevnevnnene. )2 =i, )s
(iti)  Obtain Gray code of (110110),
(iv) Find 1’s and 2’s complement of (11011001) ».
List all logic gate. Draw the symbol, truth table and Boolean equation for it.

State and Prove De Morgan’s Theorem.
Why NAND gate is called Universal gate? Build AND, OR, NOT AND EX-
OR gate using NAND gate.

OR
Why NOR gate is called Universal gate? Build AND, OR, NOT AND EX-
NOR gate using NOR gate.

Write a short note on R-S flip flop.
Write a short note on 4 x 1 Multiplexer.
OR
Draw Karnaugh-Map for following
(i) F(A,B,C)=(0, 1, 2, 3,4, 6)
(iDF(AB,C)=(2,3,4,5,7)
Simplify following logic equation using Boolean —Algebra.
MHF=(A+B)(A+B’) (A’ +B)
(ii)F= AB’C + ABC’ + ABC

Write a short note on Full-Adder.
Write a short note on D-flip-flop.
OR

(i) Perform binary substration using 2’s complement method: 100110-11010
(i) Perform binary division : 11101 + 101
Write a short note on shift register.

Draw and Explain 4-bit Binary Ripple Counter.
Write a short note on JK flip —flop
OR
Draw and Explain Binary UP/DOWN counter with necessary diagram.
Compare Combinational logic circuit and Sequential logic circuit.
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(i) SAHA (175)10 A oll2Aet3]l dal s Hi ¥Rl
(i) (AB)16= (cevvvvennnnnn. 2= (eevreeeee . )g 2ULAR 82U
(iii) (110110) ; tlldot3l of I 1S Hi FUlcR $3U.

(iv) (11011001) , o] 1’s AaA 2’s SLUldlNo2 0.

oul As e oll o cull. dotl Abolld, g 2 dal ocllaet

AHls20L vl

g-Holot ol yR vl dal AlAd s3.

Acs A2 ol Al HIZ Yollade e sdaHi WA B? alos N2 Hi &l Aos,

AR, olle daUl AsU-BR A2 tollal.
u Yl

ollR A2 o al HR Yollald e sdani WA 8? ok e Hi &l Aos,

R, olle dal AsU-ollR e olollal.

R-S scllu AU BUR &solld cAvl.
4x1 HEUSUR GUR sl Al
Aal

o{lAetl HIZ SRl AU €13

(i) F(A,B,C)=(0,1, 2, 3, 4, 6)
(iF(AB,C)=(2,3,4,5,7)

ocllaet Aaul ol Hee Ul ollAotl SN of EIU WL,

(i) F=(A+B) (A+B’) (A’ +B)
(ii)F= AB’C + ABC’ + ABC

$E A BUR &sollel cul.

Sl - sellu scAlu GUR &salll Audl.
Aal

(i) 2’s sldlcllioz ofl Heeell olteousl s2A: 100110-11010
(i) cllAet3] eoustRk sA ;11101 + 101

ol 2ls2 YR BUR &sollu AWl

4- ofle sll2et?l 51Go2R vl UMl
IK sellu sAlu GUR &sallul cull.
Ul
olladot3] WU SIGet $1Go2R vl SlauouH WA AHesAl.

sLollaaldd A s WA Alsaotllad As URsle ol auuHell 5.
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